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Multiple Choice
Biological
nortiges  Coralsare gﬂﬂgﬁnlv&ﬂamd tn ?
Answer W: barnacles
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Answer Z: sea urchins
| Correct Answer: X
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Toss-up Number 2.
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Answer W: salinity
Answer X: density
Answer Y: light Fntenj\sity
'Aﬁéw'er Z: turbidfty '

Correct Answer: X

Bonus

p

Multiple Choice
Physical .

Question: The greatest declination of the moon is ...?

Anewer W: 5°



Toss-up
Multiple Choice
Technology

Question: The draft of a shipisthe ...?

| Answer W: amount of water it displaces.
Answer X: depth of its cargo holds.
Answer Y: number of tons of cargo it can carry.

'Ather Z: minimum depth of water in which it can float.

Correct Answer: Z

Bonus
Multiple Choice
Technology
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| Biological
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Answer W: Ctenophora (teen’-oh-fore -uh)

Answer X: Cnidaria (nye-dair’-ee-uh)
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Answer X: on the continental rise
Answer Y: inthe deep marginal trenches

‘Answer Z: on the tops of guyots (ghee ~ohs)



Geography
Question: At your location it is 1630 Greenwich Mean Time (16302) at Iocal .
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Physical

“Question: Intemperate zones the thermocline will be most pronounced during ...?
\
\ . L

Answer X: Summer

Answer Y: fall

" Answer Z: Wwinter

Correct Answer: X

Bonus
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Physical
Nuactinn-  Thg method of analyzing tides which takes into accaunt the presence of -
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Biological ' ‘

Answer W: digestive system

Answer X: skeletal system
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| ' Multiple Choice
l Social Sciences
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Toss-up WoinberTil 2
Multiple Choice
Physical
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Answer W: 1o cause the height to fluctuate in a regular pattern
| Answer X: to decrease the height
Answer Y: toincrease the height

"Answer Z: to cause the height to fluctuate in an irregular pattem

Correct Answer: X

Bonus
Multiple Choice
Physical




Toss-up
Multiple Choice

Biological

Question: Kelp lacks ...7

Answer W: a stipe

Answer X: roots

Answer Y: D

'Answer Z: a hoidfast

Correct Answer:l X

Bonus R
Short Answer
Biological

What are the two (2) major limiting factors controlting the v_ertical and
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Answer W: prevent local beach erosion
Answer X: serve as fishing locations.
Answer Y: mark property boundaries.

| Answ'er Z: serve as boat docks.

Correct Answer: W




Toss-up
Multiple Choice
Physical -
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Multiple Choice
Chemical
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Answer X: isotopic nature
Answer Y: dipolar nature

"Answer Z: caloric nature






| Toss-up
| Multiple Choice
Technology

h : : & 1 'r T w l"““’*-““‘“ﬁ#f#t#’%ﬂyﬂmé HW&_!DI'-
- a I

K
M

Answer X: losing track of the exit hole

Answer Y: large camivorous predators
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| Answer W: sculpin
|

Answer X: livebearer
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Answer Z: Sucker

Correct Answer: Y
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Question: One likely result of El Nifio is ...?

| Ancwae W-__aoaoler coastal wajer gjf Qalitomlja_

|
| .
‘ Answer X: flooding in Peru

A——— {21 1P 2R ens e ARGy j_
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.Ans\'ﬂe‘r 7. melting of icecaps

Correct Answer: X

Bonus | WS

Multip_le Choice
Physical

Question: The Beaufort scale uses the condition of the sea to infer...?

Answer W: water temperature
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Toss-up NUrBer 20
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Geological

| Quegtion;' Whét”percent of the world’s fresh surface water is contained in the Great
Lakes?

Answer W: 10

' a1 Y 4 ll 9 n : 2
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Answer Y: 50

Answer Z: 66

Correct Answer: X
e [ |

Bonus
Multiple Choice
Geological

R

Question: The waters in areas with limestone bedrock are usually not heavily







Multiple Choice
Chemical

“Question: The energy represented by the latent heat of melting is being used to...?

Answer W: raise the temperature of the ice

Answer X: raise the temperature of liquid water
| Answer Y: break hydrogen bonds

'Answer Z: break Van der Waals bonds

Correct Answer: Y

Bonus

Multiple Choice -
Chemical

Question: The latent heat of vaporization of water is higher than its latent heat of
melting because...?
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Toss-up
Multiple Choice
Physical

_Question:. . Ekman transport predicts that in the Northern Hemisphere water will
' move...? '

Answer W: 1o the right of the wind.

Answer X: tothe left of the wind.

Answer Y: opposite to the wind.
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Multiple Choice
Geological

! earh?10.with 2 half-life of 22 vearsisysert tn datemine A Al Of SRUMEN! eee—




Multiple Choice
Biological

Question: The world's largest fish is a filter-feeder that depends on plankton as a
food source. This fishis the ...7

Answer X: Blue whale
. Answer Y: Whale shark

Answér 7.  Megamouth shark

Correct Answer: Y

Short  Answer
Biological

Question: In their naturai habitat, penguins are never taken as prey by polar bears.
What's the main reason for this?

Answer W: Polar bears are an Arctic species and/or penguins are fimited
to the southem hemisphere.
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Question: Duﬁng ebb current the level of the water along the shore...?
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Answer Y: fluctuates

Answér Z: is unchanged

Correct Answer: X
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Toss-up Niimber-27 .
Multiple Choice '

Biological
duésti.or-l: What is the term for the light-producing organs of bioluminescent
organisms?
a2 “ [TI DR LLE rnhatasaman .

A

Answer X: photochromes
Answer Y: Pphotophores
Answér Z: photoblasfs

" Correct Answer: Y

Bonus
Multiple Choice
Biological
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Toss-up
Chemical
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Number. 29253

Question: An alkaline solution has a pH of ....?

Answer W: 7
Answer X: 9
Answer Y: O
Answér 7. 4

Correct Answer: X

Bonus o
' Wstrine ﬂhﬂir_‘?_-- 1

Question: Organic molecules are crganized around the atom of...?

o

Answer Y: hydrogen 3 PR M



Toss-up

Multiple Choice
Technology
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| Question: The chronometer developed by John Harrison was valuable because it
made possible the accurate determination of ...7

-
| i
Answer X: truenorth
" Answer Y: inclination
g-.:_ﬂ-l‘%pﬂjhudn
Correct Answer: Z
Bonus
_i




Physical

Question: Salinity is expressed as...? _

Answer W: parts per thousand by weight

Answer X: parts per million by weight

1‘ ii i':i *-:_;l.l_._..lu.l i sralicama -

Answér Z: grams pef cubic centimeter



Toss-up
Multiple Choice
Biological

Answer W: dinoflagellate

Answer X: diatom
. Answer Y: bacteria

| Answer Z: fungi

oot Anwer W —
Bonus
Multiple Choice
Biological

Question: Which of the following organisms is classified as nekton?



Toss-up

Multiple Choice
Geological
Ninatians (e hindrad sinhtv millin years age this syrecagniigent becanto brgak  —
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Answer X: Gondwanaland

~ Answer Y: Tethys

‘Answer Z: Pangaea

Correct Answer: &

Bonus
Multiple Choice
Geological

Question: The approximate latitude at which rocks that contain magnetite particles
were formed can be determined by measuring the ...?

Answer W: intensity of the rocks’ magnetic field

Answer X: magnetic dip of the particles



Toss-up
Multiple Choice
Social Sciences

- Quest:on 'Th-é first I_E'U'_ropeans known to have traveled to North America were the ...?

Answer W: Spanish
Answer X: Phoenicians
Answer Y: Portuguegg
Ans@ér Z: Vikings

Correct Answer: Z

Muitiple Choice
Social Sciences

Question: An usual voyage that attempted to reach the North Pole was initiated in
1893 aboard the vessel...?

Anmunse 8L National




Toss-up
Multiple Choice
Physical

Question: The greatest amount of heat loss from the world’s ocean occurs
through...?

Answer W: ocean currents

Answer Y: radiation
‘Answer Z: evaporation

Correct Answer: Z
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Physical

Question: Equatorial currents are driven primarily by...?

Answer W: the trade winds



' : Toss-up
Muitiple Choice
Chemical

Question: When carbon dioxide combines with ocean water, it produces...?

Answer W: carbonate

Answer X: bicarbonate
~ Answer Y: carbonic acid

Answer Z: calcium carbonate

Correct Answer: X

-7 Dawmsim-

Multiple Choice
Chemical

Question: The “Rule of Constant Proportions” ...?7
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Multiple Choice

| Geological
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by a lagoon are called?
Answer W: atolls
Answer X: barrier reefs
Answer Y: fringigg rggfs
‘Aﬁs.wér Z: flatreefs -

Correct Answer: X

Bonus .
Muitiple Choice
Geological
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Toss-up
Multiple Choice
Physical

. -

would occur ...7

Answer W: at0°C

Answer X: at4°C
Answer Y: at its freezing point

Answér Z- afterit turns to ice

Correct Answer; Y

Bonus
Short Answer




Social Sciences

Question: The theory of continental drift was first presented in 1912 by...?

Answer W: Harry Hess
Answer X:. Frederick Vine

~ Answer Y: Alfreq ngener (Veh’-geh-ner)
'Answér z: Sir Ec:iwar'd Bullgrd

Correct Answer: Y

Bonus

Multip_le Choice
Social Sciences

Question: Benjamin Frankiin’s nephew, Timothy Folger, produced the first map of
the ...? _

Answer W: North Atlantic Ocean
Answer X: Gulf Stream

Answer Y: Labrador Currents

Answer Z: U.S.Coastal Waters

Correct Answer: X
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Physical

Question: The distance from crest to crest on adjacent wave forms is the ...?

Answer W: wave height

Answer X: wavelength
- Answer Y: steepness
Answer Z: Wave period

Correct Answer: X

Bonus . R
Multiple Choice ' |
Physical

Question: Particles move back and forth in the direction of energy transmission in a
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group, the oceanic region with the highest average salinity would be
the...?

Answer W: Atlantic Ocean
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Multiple Choice
Physical
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following does NOT occur?

Answer W: wavelength decreases

Answer X: Wwave velocity decreases
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Geological
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Toss-u T e
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, Multiple Choice

Physical

S Diiestiane A tsunamilds an exampleofa...?

Answer W: deep-water wave
Answer X: shallow-wa.ter wave
Answer Y: forced wave

‘Answer Z: capilléﬁ Wave

Correct Answer; X

Physical

Question: The interference pattern resulting from swell that is generated in different
locations coming together crest to crest (in phase) is...?

Answer W: reflective
Answer X: consfructive

Answer Y: destructive

Answer Z: mixed i
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~ Question: Sponges belong to which of the following phyia?
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Answer X: porifera

Answer Y: echinodermata

‘Answer Z: cnidaria

Cotrect Answer:' X

Bonus
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Geological

.. Question: Anexample of a primary coast is a...?

Answer W: Volcanic coast
Answer X: Wwave-erosion coast
Answer Y: marine-deposition coast

. Answer Z: coral-reef coast

Correct Answer: W

Bonus o
Multiple Choice .
Geological

Question: Beach slope increases as beach sediment becomes...?

Answer W: more angular
Answer X: coarser
Answer Y: finer

Answer Z: hone of the above

Correct Answer: X




Multiple Choice
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Answer W: is without friction

Answer X: lies in rectangular basins

Answer Y: has varying depths

. .. =me _~m;etaine watar mavemants that ara onlv vertical
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